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BAR(EE) / RESE  BEEY-CEEER2EY / EREMR : 301~303
HEER Y= EREH P AR
RETEL B = 30% X 70%
RE 1 R = X 100%
RE 2 R = X 100%
2EHE = X X 100%

BAN(GER) / RBERE . EBEY-EamitnEREEYRNBERINEE
/ERFEL : 301~303

RE 1B HAF)E EHAEH TR AR
RETEEH £ X 30% 70%
RE 1R 2 X 100%
RE 2 R = X 100%
EEERE 2 X 100%

BAN(GER) / RBERE  EBENM-ERECRSRG

/BREH . 310

TRZ 1B HAH)Z EHAEH TR AR
FRETEEHI = 50% X 50%
fRE 1 R = X 100%
fRE 2 R £ X 100%
EEERE 2 X X 100%




BAN(GER) / REBERE . EBEY-EVEEEEIIEE

/ ERER : 201~204

TRE B HA9)E EHAEH FRpk A
JRETEEH = 20% 20% 30% 30%
RE 1 R 2 30% 30% 40%
RE 2 Xk = 50% 50%
EEERE = X 100%

SRS / NE B

D EBEY-EREEEEIEE

/BREH : 210

tRE B HA9)%E EHAEH FRp A
FRETEESI = X 40% 30% 30%
RE 1 R i 30% 30% 40%
RE 2 R i 50% 50%
EEERE i X 100%
BAR(EE) / RBRE £ / BR% - 110 - 207~208
tRE B HA9)E EHAEH TR AR
FRETEESI £ 20% 20% 30% 30%
RE 1 X 2 30% 30% 40%
RE 2 R = 50% 50%
EEERE = X 100%




